

$$\therefore x_2 = \frac{22}{5} - \frac{4}{5} x_3$$

$$= \frac{22}{5} - \frac{4}{5} \cdot 3 = \frac{22}{5} - \frac{12}{5} = \frac{22-12}{5} = \frac{10}{5} = 2$$

$$\therefore x_2 = 2.$$

$$\text{now, } x_1 + \frac{2}{3} x_2 + \frac{1}{3} x_3 = \frac{10}{3}$$

$$\therefore x_1 + \frac{2}{3} \cdot 2 + \frac{1}{3} \cdot 3 = \frac{10}{3}$$

$$\therefore x_1 + \frac{4}{3} + 1 = \frac{10}{3}$$

$$\therefore x_1 = \frac{10}{3} - \frac{4}{3} - 1$$

$$\therefore x_1 = \frac{10-4}{3} - 1$$

$$\therefore x_1 = \frac{6}{3} - 1$$

$$\therefore x_1 = 2 - 1 = 1$$

$$\therefore x_1 = 1$$

$$\text{now } X = \begin{bmatrix} 1 \\ 2 \\ 3 \end{bmatrix}, \quad x_1 = 1, x_2 = 2, x_3 = 3. \quad \underline{A}$$

Problem

Solve the system with.

LU decomposition Crout's method.

$$x_1 + x_2 - 2x_3 = 3$$

$$4x_1 - 2x_2 + x_3 = 5$$

$$3x_1 - x_2 + 3x_3 = 8.$$



$$x_n = \frac{1}{a_{nn}} [b_n - a_{n1}x_1 - a_{n2}x_2 - a_{n3}x_3 - \dots - a_{nn}x_n]$$

Let  $x_1^{(1)}, x_2^{(1)}, x_3^{(1)}, \dots, x_n^{(1)}$  be the first approximation for the values  $x_1, x_2, \dots, x_n$ .

So, Second Approximation can be written as.

$$x_1^{(2)} = \frac{1}{a_{11}} [b_1 - a_{12}x_2^{(1)} - a_{13}x_3^{(1)} - \dots - a_{1n}x_n^{(1)}]$$

$$x_2^{(2)} = \frac{1}{a_{22}} [b_2 - a_{21}x_1^{(1)} - a_{23}x_3^{(1)} - \dots - a_{2n}x_n^{(1)}]$$

$$\dots$$

$$x_n^{(2)} = \frac{1}{a_{nn}} [b_n - a_{n1}x_1^{(1)} - a_{n2}x_2^{(1)} - \dots - a_{nn}x_n^{(1)}]$$

Similarly we can write

$$x_1^{(k+1)} = \frac{1}{a_{11}} [b_1 - a_{12}x_2^{(k)} - a_{13}x_3^{(k)} - \dots - a_{1n}x_n^{(k)}]$$

$$x_2^{(k+1)} = \frac{1}{a_{22}} [b_2 - a_{21}x_1^{(k)} - a_{23}x_3^{(k)} - \dots - a_{2n}x_n^{(k)}]$$

$$\dots$$

$$x_n^{(k+1)} = \frac{1}{a_{nn}} [b_n - a_{n1}x_1^{(k)} - a_{n2}x_2^{(k)} - \dots - a_{nn}x_n^{(k)}]$$

- This computational steps is called Gauss-Jacobi-iteration method.

The general computational formula is

$$x_i^{(k+1)} = \frac{1}{a_{ii}} [b_i - a_{i1}x_1^{(k)} - a_{i2}x_2^{(k)} - a_{i3}x_3^{(k)} - \dots - a_{ij}x_j^{(k)} - a_{i(i+1)}x_{i+1}^{(k)} - \dots - a_{in}x_n^{(k)}]$$

Here, the Gauss-Seidal method is improved version of this Gauss-Jacobi method, here for quick convergence to the solution we use the currently obtained  $x_i$  values in computation of  $x_{i+1}$ , rather than obtaining current  $x_i$  value using all old  $x_i$  values.

Here the general formula is given by

$$x_i^{(k+1)} = \frac{1}{a_{ii}} \left[ b_i - a_{i1} x_1^{(k+1)} - a_{i2} x_2^{(k+1)} - a_{i3} x_3^{(k+1)} - \dots - a_{i,i-1} x_{i-1}^{(k+1)} - a_{i,i+1} x_{i+1}^{(k)} - \dots - a_{in} x_n^{(k)} \right]$$

### Algorithm

- ① Take input  $n$ ,  $a_{ij}$ , and  $b_i$  values.
- ② set  $x_i = b_i/a_{ii}$  for  $i=1$  to  $n$  [may be taken as  $x_i=1$  for all  $i$ ]  
initialize the solution.
- ③ ~~set keys~~
- ④ For  $i=1$  to  $n$  do,  $i=i+1$
- ⑤ set  $sum = b_i$
- ⑥ For  $j=1$  to  $n$  ( $j \neq i$ )
- ⑦ set  $sum = sum - a_{ij} x_j$
- ⑧ endfor.
- ⑨ set  $d = sum/a_{ii}$
- ⑩ if  $(|d - x_i| < \text{error})$  then
- ⑪ set  $x_i = d$ , ~~and exit~~
- ⑫ ~~endif~~ ~~and exit~~ write results as  $x_i$ 's, and exit().
- ⑬ endif.
- ⑭ ~~goto step~~ endfor.
- ⑮ goto step 4.

### Problem

$$2x_1 + x_2 + x_3 = 5$$

$$3x_1 + 5x_2 + 2x_3 = 15$$

$$2x_1 + x_2 + 4x_3 = 8$$

Ans.  $x_1^{(1)} = (5 - x_2 - x_3)/2$

$$x_2^{(1)} = (15 - 3x_1 - 2x_3)/5$$

$$\text{and } x_3^{(1)} = (8 - 2x_1 - x_2)/4$$

let  $x_1^0 = 0$ ,  $x_2^0 = 0$ ,  $x_3^0 = 0$  then.

After 1st iteration we have

$$x_1^{(1)} = (5 - 0 - 0)/2 = 5/2 = 2.5$$

$$x_2^{(1)} = (15 - 3 \cdot 0 - 2 \cdot 0)/5 = 15/5 = 3.0$$

$$x_3^{(1)} = (8 - 2 \cdot 0 - 0)/4 = 8/4 = 2.0$$

$$\therefore x_1^{(1)} = 2.5, \quad x_2^{(1)} = 3.0, \quad x_3^{(1)} = 2.0.$$

now

---

$$x_1^{(1)} = (5 - 0 - 0)/2 = 5/2 = 2.5 \quad \therefore x_1^{(1)} = 2.5$$

$$\begin{aligned} x_2^{(1)} &= (15 - 3x_1^{(1)} - 2x_3^{(1)})/5 \\ &= (15 - 3 \cdot 2.5 - 2 \cdot 0)/5 \\ &= (15 - 7.5 - 0)/5 \\ &= 7.5/5 = 1.5 \end{aligned}$$

$$\therefore x_2^{(1)} = 1.5$$

$$\begin{aligned} \text{now } x_3^{(1)} &= (8 - 2x_1^{(1)} - x_2^{(1)})/4 \\ &= (8 - 2 \cdot 2.5 - 1.5)/4 \\ &= (8 - 5 - 1.5)/4 \\ &= 1.5/4 = 0.375 \end{aligned}$$

$$\therefore x_3^{(1)} = 0.375$$

in iteration (2) we have

$$\begin{aligned} x_1^{(2)} &= (5 - x_2^{(1)} - x_3^{(1)})/2 \\ &= (5 - 1.5 - 0.375)/2 \\ &= (3.5 - 0.375)/2 \\ &= (3.125)/2 \end{aligned}$$

$$\therefore x_1^{(2)} = 1.5625$$

$$\text{now, } x_2^{(2)} = (15 - 3x_1^{(2)} - 2x_3^{(1)})/5$$

$$\begin{aligned}
 x_2^{(1)} &= (15 - 3 \cdot 1.5625 - 2 \cdot 0.375) / 5 \\
 &= (15 - 4.6875 - 0.75) / 5 \\
 &= (14.2500 - 4.6875) / 5 \\
 &= 9.5625 / 5 \\
 &= 1.9125 \\
 \therefore x_2^{(1)} &= 1.9125
 \end{aligned}$$

$$\begin{aligned}
 \text{and } x_3^{(1)} &= (8 - 2x_1^{(1)} - x_2^{(1)}) / 4 \\
 &= (8 - 2 \cdot 1.5625 - 1.9125) / 4 \\
 &= (8 - 3.125 - 1.9125) / 4 \\
 &= (4.875 - 1.9125) / 4 \\
 &= 2.9625 / 4 \\
 &= 0.740625 \\
 &= 0.740625
 \end{aligned}$$

upto second iteration the value obtained is

$$x_1^{(2)} = 1.5625, \quad x_2^{(2)} = 1.9125, \quad x_3^{(2)} = 0.740625$$

Sufficient condition for convergence

<u>problems</u>	$  \begin{aligned}  x_1 + x_2 + 4x_3 &= 9 \\  5x_1 - 3x_2 + 2x_3 &= 20 \\  4x_1 + 11x_2 - x_3 &= 33  \end{aligned}  $	<u>Ans.</u> After 3rd iteration $x_1 = 3.00, x_2 = 2.00$ $x_3 = 1.00$
-----------------	---	--

Sufficient condition for convergence

It is an iterative method and the method is based on finding successive better approximation of values of unknowns of the system of equations. The convergence of this iteration method is depends on the sufficient condition that the system should be diagonally dominant.

Let us a system of simultaneous equations are

$$a_{11}x_1 + a_{12}x_2 + a_{13}x_3 + \dots + a_{1n}x_n = b_1$$

$$a_{21}x_1 + a_{22}x_2 + a_{23}x_3 + \dots + a_{2n}x_n = b_2$$

$$\dots \dots \dots$$

$$a_{n1}x_1 + a_{n2}x_2 + a_{n3}x_3 + \dots + a_{nn}x_n = b_n$$

- The system will be ~~diag~~ diagonally

dominant if  $|a_{ii}| \geq \sum_{\substack{j=1 \\ j \neq i}}^n |a_{ij}|$   $i=1$  to  $n$ .

if the system is not in diagonally dominant pattern, then we can re-arrange these equations and try to make it diagonally dominant.

suppose let the set of equations given below.

$$x_1 + x_2 + 4x_3 = 9.$$

$$8x_1 - 3x_2 + 2x_3 = 20$$

$$4x_1 + 11x_2 - x_3 = 33$$

then ~~this~~ this is not in diagonally dominant form.

then we re-arrange these equations as.

$$8x_1 - 3x_2 + 2x_3 = 20$$

$$4x_1 + 11x_2 - x_3 = 33$$

$$x_1 + x_2 + 4x_3 = 9$$

}  $\rightarrow$  This is diagonally dominant in nature